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3.

(vi)

General Instructions :
(i)  All questions are compulsory.
(ii) SectionA : Q.no. 1105 are very short-answer questions and carry 1 mark each.
(iii) Section B : Q. no. 6 to 12 are short-answer questions and carry 2 marks each.
(iv) Section C : Q. no. 13 to 24 are also short-answer quesfions and carry 3 marks
each,
(v) SectionD : Q. no. 25 to 27 are long answer questions and carry 5 marks each.

There is no overall choice. However, an internal choice has been provided in two
questions of one mark, two questions of two marks, four questions of three marks
and all the three questions of five marks weightage. You have to attempt only one
of the choices in such questions.

(vii) Use log tables if necessary. Use of calculators is not allowed.

R LU |
SECTION: A

1/ NaCl W AgCIH & ¥ 71 Shdber 3w qarfen & ik i 7 1
Out of NaCl and AgCl, which one shows Frenkel defect and why ?

2,/ e =) s e g o s i !

(CH;);N, C,H;OH, C,H,NH,

Arrange the following in increasing order of boiling points :

(CHy);N, C,H,OH, C;H,NH,

Hroree e & vy iyt =i e # 2

HAq=

TAAH (Y9W) 3R oW § w1 s R ?
Why are medicines more effective in colloidal state ?

OR

' Whatisdiﬁ‘erencebetweenanemulsionanda’gel?
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Define ambidient nucleophile with an example.

5/ Y o s i v s SR R 7

Hyan

AT & T AT o IvET W IeTe) i ety |

OR
Write the products obtained after hydrolysis of lactose.

LR |
SECTION : B
6.  TrefeReaa wormi 3 fre wafera amafies wefteror ferfa -
() XeF, & Jvufed g |
(i) MnO, %! | HC! % 819 TH fFar s & |
Jrora
Frefaies T wge i 3 o & sgen sl Fif
(i) H,0,H,S, H,Se, H,Te - 3T Wfas & wiga 3 &
(i) HF, HCI, HBr, HI ~ 3o ot & wed s o

Write balanced chemical equations for the following processes :
(i) XeF, undergoes hydrolysis.
(ii) MnO, is heated with conc. HCI.

OR
Arrange the following in order of property indicated for each set :
)y H,0, H,S, H,Se, H,Te - increasing acidic character
Giy/ HF,HCL HBr,HI - decreasing bond enthalpy

S6/1/1 3

What is the basic structural difference between glucose and fructose ?




CBSE Class 12 Board Exam 2019: Chemistry Question Paper

mmmmtmm%ﬁmﬁmﬁaﬁmlmmw
m*mﬁwmaﬁmﬁﬂﬁﬁmml

ini i ite two
State Raoult’s law for a solution containing volatile component:i.on\;/t'lt
characteristics of the solution which obeys Raoult’s law at all concentrations.

8./ vl

G 2H,0, mlmm
3 fore vty Prnfarfy 9 & orEm R

(1) H),0,+I" - H,0+10” (A<)

2) H,0,+10" > H,0+I +0, (@)

) il % e am frem ferfaa |

(i) Hfufsra & Fa Hife fafey |

Gii) B()IRQ)FIPRTRI w1t 2

For a reaction

—2H,0+0,

2H,0 £

20, aine medion:
the proposed mechanism is as given below :
W H,0,+T > H,0+10" (slow)

@ H,0,+10" > H,0+ T +0, (fast)

gy» Write rate law for the reaction.
(1) Write the overall order of reaction.
(i) Out of steps (1) and (2), which one is rate determining step ?

2H,0 +0,

4:«}) 4 MnO, %1 KOH 71 KNO, 3% Sieefewresh % et wifarer fam v :
1 i (A) I Brer & | a:tmﬁamﬁ?hﬁmm)wﬁmg};mgm
Afis (B) 3 & | v (B) F1 vl Rrer mm\ﬁmmmﬁmgﬂ

st i (B) 1 srvefraga e K1 =t St
3 (D) i e Hifdr | i TR (@), @B), (©)

givesadarkgreencompound(A.Co :

to give purple compound (B). A)n alkl:ﬂpzeund v
compound (C) whereas an acidified :
dentify (A), (B), (0), and @y, o Of compound (B) oxidises KI to (D
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Wﬁgm [Pt(en),Cl,] ®T IUPAC 7 fefigw | 3o el % ST gt 6 e
Ry it |

e

TUPAC HRUE! &1 37 H1a gY frerforfa & o ferfam s
(i) XFERERTEHETE (11) gohe

(i) AR IR (1)

Write IUPAC name of the complex [Pt(en),CL,]. Draw structures of geometrical
isomers for this complex.

OR

Using IUPAC norms write the formulae for the following :
Hexaamminecobalt(III) sulphate
W Potassium trioxalatochromate(IIT)

\1)( [CoFg* 3R [Co(en),** ¥ & #\ s vge 2 2
@) ITTEEH
(i) fere vl
(iii) 3R HEH Tper 3
(iv) I W T
(Co T THIY] =% = 27)
Out of [C0F6]3‘ and [Co(en)3]}", which one complex is
(r  paramagnetic
(I» more stable
(i) /inner orbital complex and

(ivY high spin complex
(Atomic no. of Co = 27)

12. Fr=fefea s sfifrmat 3 At A si B 4 gt firfay - 2
HzCHg

— +
" KMnO,~KOH  ,  H,0

>B

(i) CrO; 4y HzN—NH—COle; B

56/1/1
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Write structures of compounds A and B in each of the following re'wﬁ

H,CH,§
M 'KMnO,-KOH ,  H0* o v
o
H
@ CrO;  , H,N-NH-CONH, o

=

R LR |
SECTION: C

{y@mﬁmmmsmﬁmmmﬁmt | 7R g Ffspan it 3

R (k) 4 x 107 Ms™ &, o NH, %1 SRR @izar 0.1 M & w2t 0.064 M 83 &
T T e 2

The decomposition of NH, on platinum surface is zero order reaction. If rate constant (k)

is4x 107 Ms™, how long will it take to reduce the initial concentration of NH, from
0.1 M to 0.064 M.

14) () g are # whefa wnee 6w i d
(ii) FeCl,
forerm

(iii) W—tm«ﬁmﬁwﬁmmv&aﬁaﬁma? Mmt?
..ﬁl_'ﬁ‘f 6 3
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(1) / Whatis the role of activated charcoal in gas mask ?

A colloidal sol is prepared by the given method in figure. What is the charge on
hydrated ferric oxide colloidal particles formed in the test tube ? How is the sol

repvesented ?

FeCl,
Solution

(v/ How does chemisorption vary with temperature ?

15,/ B 7 G H@ T (foc) T T Aorh § Freefipa g @ e SR
\
wwaTé 300 pm ® | 7 1 U 10.8 g e B | T AR 6 108 g 77 F fopaat w9
4

An element crystallizes in fcc lattice with a cell edge of 300 pm. The density of the

element is 10.8 g cm™. Calculate the number of atoms in 108 g of the element.

£

}/‘ S H G (M = 342 g mol™) % 4% e (aferera semmm wiw) #1 R 271,15
R | 5@ ¥ @™ (M = 180 g mol™) % 5% T =1 fewies whefera Hift |
(e & - g 9t =1 fimi = 273.15 K)

A 4% solution(w/w) of sucrose (M = 342 g mol™

e
) in water has a freezing point of
271.15 K. Calculate the freezing point of 5% glucose (M

: e = 180 g mol™) in water.
(Given : Freezing point of pure water = 273.15 K)
56/1/1
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WTIE WHE SUUCUIEY UL IMUIULISLS USed 10T getung the following polymers :
@) Nylon-6,6

(i) Glyptal 8
(iii) Buna-S i

OR

e monomers of the following polymer :
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21.

22,

23.

i) et ® T NaOH %
T AT 3 ) frfe |

(iii) -2~ 3ot % afior 3K A WWW“&
H T HiSA A8 ? .

() \/an of (CH,),C-Br and (CH,);C-1, which one is more reactive
and why ?

i i eous
(i\iVWrite the product formed when p-nitrochlorobenzene 18 heated with aqu
NaOH at 443 K followed by acidification.

,\(}i{{ Why dextro and laevo — rotatory isomers of Butan-2-ol are difficult to separate
' by fractional distillation ?

et e G e

towards Syl

AR A “A’, Br, 3R KOH % wr mf g 9 W CH;N AU aren A
‘B’ &1l & S CHC, 3 T S ETEgTRETEE % WY TH 0 W g
Terd ‘C & R | A A, B 3f ¢ ) waand 3l [UPAC A fafe |
An aromatic compound ‘A’ on heating with Br, and KOH forms a compound ‘B’ of
molecular formula C;H,N which on reacting with CHCl; and alcoholic KOH

produces a foul smelling compound ‘C’. Write the structures and [UPAC names of
compounds A, B and C.

P siffrasi = o S

] CHO  NacN/HC!
(i) _—_—

(i) (C¢HCH,),Cd +2CH,COCI —>
CH3
(i) Br / ¥1Tet HIEHRE_

(iii) CH,;— EH - COOH —
(i) H,0

FrorEn

Frafefaa sfufrmstt & foe vamafe e fafe

(i) ST Y 9g Ba(OH), % w1 iffrar it s R |

(ii) OISR i Zn(He)/Ars HCI % w19 sififra #t s 2 |

(iii) iahawhuumpdlnasqﬁmim@mqﬁmmg.

56/1/1 10
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o R T

/

Complete the following reactions :
o CHO  NaCN/HCI

7

(fH
M/ cn,- b1 - coon DB /Red Py
(i) H,0
OR
Write chemical equations for the following reactions :
(i) Propanone is treated with dilute Ba(OH),.
(ii) Acetophenone is treated with Zn(Hg)/Conc. HCI
(iii) Benzoyl chloride is hydrogenated in presence of Pd/BaSO,.

szﬁmmm:

() Yirea i e

(i) 2T A IR WEHAEE WY

(i) WER N IR MR W=
EoC

wﬁ@mamﬁmmﬁ%mmm

@) 9 g
(i) uf= TohEA TR
(iii) HTETe GUE % &9 § vfesanEs

Differentiate between the following :

(ia/’ Amylose and Amylopectin

(1 tide linkage and Glycosidic linkage

(i Fibrous proteins and Globular proteins
OR

Write chemical reactions to show that open structure of D-
following :

) Straight chain
(ii) Five alcohol groups
(iii) Aldehyde as carbonyl group

glucose contains the

B o
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LB
SECTION : D
25,/ & etew anfirfinan 3 foTL B 2.71 ve
Mg, + Cu™*g 01y = Mg™ 0001w * €V
S  fIY By Thewfera T | farega e 3 e 1 el
fada arw fava &
(i) 271VIFH AR
() 271V s

feaftgrg @ @A T

FeEn

() FeSO, 31N ZnSO, forgr-rquea @ st Avfisrm & wAfo 3 ferga- et &t X
3 Y 3 2 wefte ) < - 7 o SR 61 78 e A% Fe o 2.8 g A¢1
X % v v R 1 | v s e e ae waTfed 1 T8 7 @ Y & HU1S
R &R Zn 6t arn afesfera i | '
(VST 5847 : Fe = 56 g mol™! Zn = 65.3 g mol™), 1F =96500 C mol™")

(b)  HIER STAHAT (n,) R WA & e (') e aera # < e -smaat A
3R B % fore Frferfaa o s gu

l\

B

iz —>

fFrafefiaa % o &fv -
() fora-amugEi A 3k B 6wy 6t wmfs S |

(i) forega-smEeEi A 3 B A T v = ) s
e WA

E° .y for the given redox reaction is 2.71 V

Mg, + C“2+(o.01 wy — Mg? * 0001 m + Cug
Calculate E_ for the reaction. Write the direction of flow of curren
e opposite potential applied is _
(1) / less than 2,71 V and
) greater than 2,71 V

OR

56/1/1
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26.

(a)

(b)

(a)

A steady current of 2 amperes was passed through two electrolytic cells x and
Y connected in series containing electrolytes FeSO, and ZnSO, until 2.8 g of

Fe deposited at the cathode of cell X. How long did the current flow ? Calculate
the mass of Zn deposited at the cathode of cell Y.

(Molar mass : Fe = 56 g mol™! Zn = 65.3 g mol™, 1F = 96500 C mol™")

In the plot of molar conductivity (a,,) vs square root of concentration (c'/?),
following curves are obtained for two electrolytes A and B :

f

Am
A

B

e
Answer the following :

(i)  Predict the nature of electrolytes A and B.

(i) What happens on extrapolation of Ap tO concentration approaching zero
for electrolytes A and B ?

sy FrafafRes oo Fa w65 2

() T A

(ii) AT B WH-2-HATA A

Frefafaa stfufsran & Brnfafy frfaw -
H,SO,

CZHSOH '—W CH2 = CHZ + H20

1 1 S FTer ST SR o ST & 3 8 0
AU

Frafafaa 3 wro dfv

@) pmmam@mmm_mmm

(i) t-gfeeEITs, Hiftan dulwaEe ¥ o ™ 5 w i
I 2 - A T R | : W

Frfefes & grag sfifrmt fafe .
() s iR
(i) T 1 R e Yfewefieor

) et S Tt faive e 3 fore e T e dif |

13
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(ay’ How do you convert the following :

uf Phenol to Anisole

(" Ethanol to Propan-2-ol

Write mechanism of the following reaction :

C,H,OH _Hz_SO;!__) CH, = CH, + H,0

43K ) ’ Senzenc !
(c\/&uy phenol undergoes electrophilic substitution more easily than
OR

(a) Account for the following :

(i)  o-nitrophenol is more steam volatile than p-nitrophenol. ;

(i) t-butyl chloride on heating with sodium methoxide gives

2-methylpropene instead of t-butylmethylether.

(b) Write the reaction involved in the following :

(i) Reimer-Tiemann reaction

(ii) Friedal-Crafts Alkylation of Phenol
(¢) Give simple chemical test to distinguish between Ethanol and Phenol.

27. (a) m%m'ﬂm:

(i) ST ST H HeH ST SR T R |
(ii)  P-P 31974 ) 37981 N-N T4 géet g @ |
(iif) SR 1 1 S Foamiferena: 0 wqrft 2 |

(b) ek o1 A frfeae s Cu  ferern e 2+
() THNO,H 3Rk
(i) |T% HNO,#

e

(@ () H;o,ﬁagamgmqmmml
(if) ~ XeF, 1 51 s Hiftra |

) Frfefea % o & .

(i) mmﬂmwm
ST R | TS & R 3 E e e

(ii) FﬁlSﬁN203ﬁBizoaﬂ$mmwm%l
() HvR sEATHTEE o % e & TR s R
T Tt | & o | g

14
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(a) ((‘}?f reasons for the following :

i) Sulphur in vapour state shows paramagnetic behaviour.
@/ N-N bond is weaker than P-P bond. o
* (iii) Ozone is thermodynamically less stable than oxygen.
(b) Write the name of gas released when Cu is added to
(i) /dilute HNO, and
) conc. HNO,

OR
(@ (i) Write the disproportionation reaction of H,PO;.
(ii) Draw the structure of XeF,.

(b) Account for the following :
() Although Fluorine has less negative electron gain enthalpy yet F, is
strong oxidizing agent.
(i) Acidic character decreases from N,0; to Bi,0, in group 15.
©

Write a chemical reaction to test sulphur dioxide gas. Write chemical equation
involved.




